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VI20xy = /23 X3 X 5 X xy = 2+/30xy

xy =30

(x, y) = (1, 30), (2, 15), (3, 10), (5, 6),
(6, 5), (10, 3), (15, 2), (30, 1)




a=-V3,b= V5L W, a(a-2b)-3b> 2 Z2?

O -18-2+5 @ -18+2+15 (@)—12+2«/ﬁ
@ 18-2+15 ® 184+ 2v15

ala — 2b) 3b? = a® — 2ab - 3b?
b= 6 & AeH
2><( «/‘«/‘) 3x5=-12+2V15




3. oA ax®-Tx+b7t(2x-1) 2 (3x-2) E AFE L W, ab 9
Fhe otH?

@ 4 @7 @12 @ 15 ® 18

B

(2x-1)(3x—2) =6x> - Tx+2
=ax®>-Tx+b

La=6,b=2

soab =12




4.

x—|—a—2x a_7o1[[Hx_a -|-ax —ax

D 14 @ 20 ® 24 @2s

r?

® 32

B

(FAR A) = x° +ax? - (@ + a*x)
=x2(x+a) —a?(a+ x)
= (x+a)(x* -a?)
= (x+a)(x+a)(x-a)
= (x+a)?(x—a)
=22x7=28




Xt = 1307 + 362 AFEoE o, SR LR o] Fof%

ke 1519
O 4x+13 @4x ® 4x-13
@ 2x2-13 ® 2x2+5

B

x* = 13x% + 36= (x2 - 9)(x% - 4)

= (x+3)(x—3)(x+2)(x~2)

- (2R Q55 )
=x+3+x—-3+x+2+x—-2=4x




6. x=-1+V2Ym x2-2x-15=0 9 327

D 10-4+2 @ -10+4V2 @—10—4\/5
@ 10+4V2 ® 10

~&B

x?-2x-15 = (x-5)(x+ 3)
=(-1+ V2-5)(-1+ V2 +3)
=(V2-6)(V2+2)
=2-4v2-12
=-10-4v2




